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Questions

Gandhara civilization is in

The partition of Bengal was annulled in

Oldest continuously-inhabited city in the world is

If 5x-15=50, the xis

1 inch is equal to

1 gram of pure gold is equal to milligrams.

1 BTU s equal to

1 yard is equal to

Ceylon (now Sri Lanka) became a republic in

Adam's Peak is located in

Answers Choice

A
B
C
D
A
B
C
D
A
B
C
D
A
B

Cc
D
A
B

C
D
A
B

C
D
A
B

Cc
D
A
B

C
D

A

B

C
D
A
B

C
D

. Pakistan

. India

. Nepal

. Bangladesh

. 1905
. 1908
. 1910
1911

. Makkah

. Damascus
. Cairo

. Jerusalem

-3
.5
.13
A7

. 2.54cm
. 3.00cm
. 3.54cm
.4.00cm

956

. 1000

. 1076

. None of these

955 Joules

- 990 Joules

. 1055 Joules
. 1211 joules

. 0.6144m
.0.7144m

.0.8144m
.0.9144m

. 1972
. 1974

. 1976
. 1978

. Nepal
. India

. Sri Lanka
. Bhutan



